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Object 202   J110=      H140=24.25
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Object 203   J110=      H140=24.25
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Object 205   J110=      H140=24.29
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Object 206   J110=      H140=24.31
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Object 208   J110=      H140=24.35
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Object 209   J110=      H140=24.43
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Object 210   J110=      H140=24.46
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Object 211   J110=      H140=24.53
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Object 212   J110=      H140=24.55
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Object 213   J110=      H140=24.62
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Object 214   J110=      H140=24.70
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Object 215   J110=      H140=24.71
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Object 216   J110=      H140=24.73
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Object 217   J110=      H140=24.87
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Object 218   J110=      H140=24.88
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Object 219   J110=      H140=25.18


